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Nem szabad...



#1 Feladni az elso
szintaktikai
hibanal...

(A kodolas eqgy kocka dolog!)
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Statement 1 SieidciCparay Datal
1SELECT city

A WV

2 reported_yes / total_num::float AS prop
3FROM (SELECT city,
4 COUNT (%) AS total num,
5 COUNT(CASE WHEN reported = 'true' T
6 FROM accidents
7 GROUP BY city) AS foo
80RDER BY prop DESC LIMIT 3;
9
 Messages

An error occurred when executing the SQL command:
SELECT city
reported_yes / total_num::float AS prop
FROM (SELECT city,
COUNT () AS total num,
COUNT (CASE WHEN reporte...

ERROR: syntax error at or near "/"
Position: 33



In [5]: for i in range(100):
if 1 % 3 ==

#2 Megijedni az

print( 'buzz')

"<ipython-input-5-569728a39b58>" 5 error ﬂzenetekté’l EEnE

~rint ('] ‘ ")
princ( Luzz )

A

IndentationError: expected an indented block (AZ error Uzenet a bara,tOd!)




#3 Csak az
Izgalmas dolgokat
megtanuini...

“A data scientist munkajanak a
80% adattisztitas. A maradek
20% pedig az adattisztitasrol

valo panaszkodas.”
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how to fix Python| X
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#4 Keveset
Guglizni — vagy
how to fix python was not found eppen tu I So kat o

how to fix python setup failed , L.
how to fix pythor Ne talald fel ujra a kereket!

how to fix python indentation error

how to fix python syntax error

how to fix python indentation

how to fix python code
how to fix python error in qgis

how to fix python path mac

Google Search I'm Feeling Lucky

Report inappropriate predictions



N

—

I'm looking for any ideas, how can | count the number of matching fields between every rows for

two different tables in mysq|.

Let's say table A is.

| ABC1 | ABC2 |
| a | b I
| f | g I
| k | 1 I
| p | q I
| x |y I
table B is:

| BBC1 | BBC2 |
| a | d I
| f | k I
Result should be:

B1.Al1l: 2 ('a' and 'd"')
B2.A1: 0

B1.A2: 1 ('f"')

B2.A2: 1 ('f')

B1.A3: 3 ('k"' and 'o0"')
B2.A5: 0

Thank you a lot! Tomi

mysql row match

share edit flag

ABC3

N3N

BBC3

stack overflow

0

ABC4 | ABC5 | LINE_LA | '
d | e | A1 |

i B | A2 | v/
n | o | A3 |

s | t | A4 I

u | v | A5 |

BBC4 | BBCS | LINE_LB |

K | o | B1 |

p | q | B2 I

VN You can do this:

—

N

select A.Line_A, B.Line_B,

((ABC1
(ABC2
(ABC3
(ABC4
(ABC5

BBC1) +
BBC2) +
BBC3) +
BBC4) +
BBCS)

) as NumMatching
from A cross join

stack overflow

The cross join generates all pairs of rows. In MySQL, a boolean result is treated as an integer,
with 0 being false and 1 being true. So the sum of the booleans counts up the number of matching

fields.

EDIT:

| notice that the desired result is not pairing the fields. This makes it a bit more complicated. If
there are no duplicate values or NULLs (as in your sample data), then this works:

select A.Line_A, B.Line_B,

((ABC1
(ABC2
(ABC3
(ABC4
(ABC5

in
in
in
in
in

(BBC1,
(BBC1,
(BBC1,
(BBC1,
(BBC1,

) as NumMatching
from A cross join

BBC2,
BBC2,
BBC2,
BBC2,
BBC2,

BBC3,
BBC3,
BBC3,
BBC3,
BBC3,

BBC4, BBCS))
BBC4, BBCS))
BBC4, BBCS))
BBC4, BBCS))
BBC4, BBC5))

+ + + +

share edit fla
asked Nov 4 '13 at 22:18 * answered Nov 4 '13 at 22:25

- Tomi Mester
8 o2
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#5 Tul koran
feladnt!

Akarki akarmit mond:
A data science nehez!
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